LD425 Ladder Cage Cover

900 - 1100 ABOVE LANDING

LD405 Ladder Head

) A A A /AR AR AR\ AV A -

N\

LD411 Ladder Body

LDO009 Ladder Fixing Angle

TYPICAL LADDER ASSEMBLY
1:20

LD026.2 Ladder Self Closing Gate

\ |

FHS92.1 S/S Self-closing
Spring Higne

4x 22mm Tek Screw

LD405* Ladder Head

LADDER GATE
1:15

TYPICAL FIXINGS

TIMBER: M10 x 100mm Coach Screw
CONCRETE: M10 x 75mm Screw Bolt
STEEL: M10 Stainless Steel Hex Nut

ISOLATING RUBBER MAY BE
REQUIRED BETWEEN LADDER
AND ADJACENT SURFACES

LD439 Ladder Cage
REQUIRED WHEN IT IS POSSIBLE
TO FALL MORE THAN SIX METERS

LD417 Ladder Splice Join

LD421.* Standard
Fixing Bracket

50 CLEAR
‘-@ = 2
g
g
50 CLEAR
PLAN VIEW
1:20

~

~
~ N

N

LADDER SAFETY BAR
1:15

Vicnkey/toe

EVERYTHING BETTER
0800 658 637 - www.monkeytoe.co.nz

1000 MIN.

2000-2200

CRITICAL

2400 MAX.

6000 MAX.

DIMENSIONS

LD436 Ladder Safety Bar
LD405* Ladder Head
DRILL $12 HOLE TO SUIT
M10 x 90mm S/S Bolt

2x M10 S/S Washer
M10 S/S Nylock Nut

LD405* Ladder Head
LADDER GRAB RAILS

1:20

LD415* Ladder Grabrail

DRILL $10 HOLE TO SUIT

M8 x 75mm S/S Mushroom Bolt
M8 S/S Washer

M8 S/S Nylock Nut

M8 Plastic Nut Cap

©'Pp11 sk UO Ag pateubisap Teys Jayio Wwasuod uanum Joud 1noyum ‘afoid Jo asodind Aue 1o} pasn aq 1ou |eys 1| ‘pi] a0ikexuo Jo Auadoid pue 1ybuAdod sy si ubisap pareloosse pue Buimelp siyL

1:15

Ladder Install Guide

MONKEYTOE GROUP
DWG No: 2004-LAD-1-01 23/06/2019
A SHEET 1 OF 2 A3
o —] SCALE: 1:50 REV.01

DO NOT SCALE

DIMENSIONS IN MILLIMETERS




Ladder Body

4x 22mm Tek Screw

LD417* Splice Join

Ladder Body

LADDER SPLICE JOIN
1:10

DRILL $10 HOLE TO SUIT

M8 x 75mm S/S Mushroom Bolt
M8 S/S Washer

M8 S/S Nylock Nut

M8 Plastic Nut Cap

FIXING TO SUIT WALL

SIDE MOUNT FIXING BRACKET

M8 x 25mm S/S Mushroom Bolt

DRILL $10 HOLE TO SUIT

M8 x 75mm S/S Mushroom Bolt
M8 S/S Washer

M8 S/S Nylock Nut

M8 Plastic Nut Cap

LD424 Ladder Cage

LADDER CAGE

1:15

DRILL $10 HOLE TO SUIT

M8 x 75mm S/S Mushroom Bolt
M8 S/S Washer

M8 S/S Nylock Nut

M8 Plastic Nut Cap

M10 x 25mm S/S Bolt
2x M10 S/S Washer

LD421.* Standard Fixing Bracket
AVAILABLE IN DIFFERENT SIZES
TRIM AND REDRILL HOLES IF REQ'D

STANDARD FIXING BRACKET
1:15

LDO009* Ladder Angle
4x 22mm Tek Screw

FIXING TO SUIT GROUND
DRILL $12 HOLE IF REQUIRED

LADDER FOOT
15

LD431A.1000*
Adjustable Landing Deck

4x 22mm Tek Screw

LD431A.1001
Adjustable Support Frame

DRILL $10 HOLE TO SUIT
M8 x 60mm S/S Mushroom Bolt
M8 S/S Washer

M8 S/S Nylock Nut

M8 Plastic Nut Cap

ADJUSTABLE LANDING KIT
1:15

Vicnkey/toe

EVERYTHING BETTER
0800 658 637 - www.monkeytoe.co.nz

115 M10 S/S Nylock Nut

4x 22mm Tek Screw

Ladder Walkoff Kit
REFER TO SMARTWALK
INSTALL DRAWINGS

-

LD421.WB*
Smartwalk Ladder Bracket

6x 22mm Tek Screw

>7

Dl

DRILL $10 HOLE TO SUIT

M8 x 75mm S/S Mushroom Bolt
M8 S/S Washer

M8 S/S Nylock Nut

M8 Plastic Nut Cap

LADDER WALKOFF KIT
1:10

< ]

i = =
14110
PR dEY
— = =
(LA
Hy b
= = = =
HE = 1 1
PR Bk

DRILL $10 HOLE TO SUIT

M8 x 60mm S/S Mushroom Bolt
M8 S/S Washer

M8 S/S Nylock Nut

M8 Plastic Nut Cap

= |l =

= 1l i =

4x 22mm Tek Screw

LD029* Parapet Platform Weldment

PARAPET PLATFORM
1:15

©'Pp11 sk UO Ag pateubisap Teys Jayio Wwasuod uanum Joud 1noyum ‘afoid Jo asodind Aue 1o} pasn aq 1ou |eys 1| ‘pi] a0ikexuo Jo Auadoid pue 1ybuAdod sy si ubisap pareloosse pue Buimelp siyL

Ladder Install Guide

MONKEYTOE GROUP

DWG No: 2004-LAD-1-01 23/06/2019

A | SHEET 2 OF 2 A3

o —] SCALE: 1.10 REV-01
DO NOT SCALE DIMENSIONS IN MILLIMETERS




